Radical Functions.notebook April 28, 2016

1)2+Vx+5=3 (e 1A=
2
({xas)= 03 Sx+ ¥4 =X
b =x"=%Sx-14
S=|
)(:,__4 0= (x-Px+D)
F=1 4 Xz
(= => V
-1o+14 =-%
Ja=-2 p s
) tse AT1” DT Td 42 = —x
EX¥S5=X+4| -2 2
LX4S= |
2x=-4 1X+4 ‘-C"X‘Q‘b
.‘ ==\ Xt4= (~-xDex-2D
A+ 4 = KP4 +2X+ 4
0=X%4+3%
0=X(X+3)
XxD “’_‘:4
{4 +2=0X
AT +2=3 v




Radical Functions.notebook April 28, 2016

5) WX +4 — Ax+1 =1

1) f(x) = —-2vx+1+3

> N
=

T

Domain:

-,
i?anfsiorn%ﬂ“‘?, ‘{-P-I- I \)478




Radical Functions.notebook April 28, 2016

2) f(x) = w’x— +2

Domain: E“‘) a

Range: C‘L Q

Transformatlons r‘l gm Ll \*?L




	Page 1
	Page 2
	Page 3

